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16| 17] 5054 ;& ¥t (3) 5,31.37 16| 13| 6373 ¥ %A (2 5,10.08
4747 WY EHFAELR 40 b HNET

171 22| 1838 ;&5 MRE(3) 5,33.44 17 9 5447 5% BEK() 5,14. 81
14" 7 Yajy LElRicE Y 1347 Y1vh N B

18 2 5955 {Fi&k BEFEE () 5,38.87 18 1 5229 l'E X% (2 5,21.03
1M W%7 EH Th3t ik #71E

19 5 5436 ik 1ERL(3) 5,43.03 19 21| 5438 k42K BE Q) 5,22.28
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20 3 6377 ZAR E®’Q) 5,50.74 20 3 5449 ® Eth (3) 5,44.69
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1 22 412 #H)11 #8Fth (2) 4,42.21 1 15 3627 &k EAK(3) 4,35. 11
Wb 9 bR ER $4M Yavh I

2 4 2048 | EAQ) 4,45.13 21 14 5469 b B B (2) 4,36.93
N5 nrb SREEE Thy' ¥ Yavakr Bt

3 11] 4466 =% #itE (3) 4,45.79 31 22 2046 FEE KX Q) 4,41.54
ah) Y avk F§F E35° Y 3954 A% H =

4 18 409 Kk Ha& (2 4,49 44 4 7 672 #R 3 (D) 4,44 13
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WY I AR Va9 || TN 9 W1t =i
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hRy ymhny Hit WYE T FEI

1 14] 4867 1k£ik B (2) 4,52.35 1 6 6351 X8 =452 4,45.78
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Jht hR it ez Al B LA Ri5
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AT 194 E% NV It nes Ri5
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N2 Vi B4 R H 47 3992 THEE—
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15 9 5677 EH & A2 4,55.33 15 19 366 1HIE RE (2 4,51.82
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16| 19| 1839 KT f&th (3) 4,55.89 16 8 3631 E7iE H s (3) 4,56. 11
¥/95 any B4 R Jt W73 #

17 3 1820 =hp K& (2) 4,58.10 1 1532 :8%k FEE Q)
4 bR B4 R avh'y shkn RE Ri5

18| 14) 5441 L[ FEFE(2) 4,58.57 2 3280 KA & (2
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19 12 5521 1k 5285 (1) 5,03.33 3 2011 A& &E(2)
Yy vavy L& h4 by St Ri5

201 20 5461 /h#k ZREH(2) 5,08. 26 11 1817 % FR ()
Ny 4Ry nes arh3 3U7% B4 R Ri5
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Ty 54y K w3 INER Ri5
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11 4456 PR3 fin (3) ) id 4, 15.54 12 1
2] 1795 /Kt &3 (3) b 4,16.97 12 2
3| 2041 FNI Rk (3) RSB 4,17.01 12 3
4] 1840 B B2 Q) Ear IRE 4.17.79 12 4
5/ 5535 B® #L=E(3) X3 4,19.37 12 5
6| 1683 #ARZEF = (3) GEEE 4,19.42 12 6
7] 5439 #a K 2Z& (3) e 4,19. 88 12 7
8| 1661 BEJII KFE(3) FIREER 4, 20.28 12 8
9 5440 il FoEE (3) e 4, 20.88 1 1
100 1790 8 B&E Q) T 4, 21.54 11 2
11| 445788 ®MWA Q) )i%d 4, 25.61 12 9
12) 4549 B & #KX Q) B4 4,26.12 1 3
13 4576 ;thE 1F;K(3) Bk 4, 27.66 11 4
14 5936 B &% (3) B% 4,27.90 1 5
15| 1835&= RREQ) EXES 4,28.42 11 6
16 5012 /N {Z(2) EBHEH 4, 28.43 1 7
17 667 kR Kih(2) HF 4, 28.88 10 1
17 3657k 1Bt (3) INEER 4, 28.88 12 | 10
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25 4941 =% B Q) iy 4, 30.23 10 3
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28 392[;FK E®Q) =5 4 31.84 9 1
29 1815 Ei5 Bk (2) ERES 4,32.44 10 5
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31 4977 3FE FA ) 12 4 [ 4,33.33 1 1 1
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33 32718 A BEZE () B %} 4, 33. 66 10 6
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471 1995 AT EBEZ @) FIII 4, 39.13 11 15
481 5937/ KJII IR (3) =5 4, 39.57 1 16
49 4984 3xAO BB (3) Févﬂ 4, 39. 66 9 8
50 4588/ "T™A BN () Bk 4, 39.78 9 9
51 5538 =@ #XEI@Q) L& 4, 39. 81 11 |1 17
52| 5445148 #}E(2) e g 4, 39.87 10 | 10
53 671 /Il #(2) HF 4, 40.59 1 18
541 5451 /K 1= (2) e 4, 40. 80 12 | 15
55 2046 FEE K@) SRASE 4 41.54 8 3
56| 3235 T#f BE=(2) BRILE 4 41.61 10 | 11
57 361/JIl5 & (3) INEER 4,42.20 10 | 12
58 412 #)11 8 (2) =5 4,42.217 7 1
59 5123|luiE =K (2) &4 4 43.61 9 | 10
60 672 'EIR &3 (1) HF 4, 4413 8 4
61 5410 =ik HiE Q) =i 4, 44 43 8 5
62 1993 #aTF #Eth (1) FIII 4, 44. 60 8 6
63 2048 &® EAQ) B S 4,45.13 7 2
64 842 [ HR IR (3) FARE— 4, 45.67 10 | 13
65 5673 A K& @Q) &K 4, 45.73 1 19
66 6351 KB =£#2) A SE 4, 45.78 8 7
67 4466 =% fHiiE (3) )id 4,45.79 7 3
68 4546 i —#t (3) B4 4, 46. 66 8 8
69 2038 dFt —&H @) RASE 4, 46.83 8 9
70 668 /hk X (3) HF 4, 47.59 10 | 14
1 1262 2% BAXQ) SREATE 4, 48.20 8 10
72| 4502 EE HmE Q) =% 4, 48. 26 8 | 11
73 5119 &M@ ## () &4 4, 48. 38 9 ' 1
74 3670 BiE FEth (2) KEFIII 4 48. 61 8 | 12
75 409 ik MK (2 ER 4,49 44 7 4
761 4041 Fis Z(2) FE LA 4, 49.58 9 | 12
71 874 lLE F(2) FAREZ 4,50. 26 8 | 13




FF

1500m

IIEEL K & HRERTR 7l £ & 5 | % Ef
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79 4065 =R KiE(2) FEEWLHA 4,51.37 8 15
80| 366 1HIZ =|™E (2) INER 4,51.82 10 | 15
81| 3200 A¥E H/ILOR FE(Q2) E 4,52.14 7.5
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117 5148 KM e (3) REFILE 5,01.48 8 | 18
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127| 49558 RE (2) 12 4 [if] 5,05.38 6 | 10
128| 2036 5% EHIE (3) BRESE 5,05.47 4 3
128 4475 5K #F (1) h ¥ 5,05.47 5 5
130] 4497 #3# % (2) =4t 5,05. 67 4 | 4
131] 5252 JtF XK (2) T 5,05.87 7118
132] 4916 [E:E f2AER (1) HIET 5,05.95 4 5
133] 4340 78 Bth (2) /A 5,06. 35 41 6
134| 4506 EH #X(3) =4t 5 07.11 5] 6
135] 5942 /Mk BHE(1) =5 5,07.44 6 11
136 2004 JtiR #1= (2) F ) 5,07.55 719
137] 6074 &)1l #0%(2) $hEE 5,07.66 7120
138| 5167 #xH ZEAER(2) REFILE 5,07.72 6 | 12
139| 5461 /A 2% (2) L= 5, 08. 26 9 20
140| 5680 MH Xi&(2) - 5,08.69 9 121
141 259|%A BN Q) 0] 5,09.04 6 | 13
142| 4557 5¢1h 15 (1) ER#A 5,09.07 4 7
143] 5131)luO ZE(2) Bk 5,09. 7 6 | 14
144| 5057 #1H 6 (2) REAE 5,09. 81 41 8
145 5678 | F4 B (2) AKX 5,10.05 6 | 15
146 6373 BFF HA(2) HIET 5,10.08 6 | 16
147] 5420 i BN (2) HiE 5,10.13 21
148| 4968 =48 |A (1) 12 4 [if] 5,10.28 3 5
149| 6660 #R K (1) BRE=E 5,10. 36 4 19
150 5412/ /M & (2) HiE 5,10. 41 51 17
151] 5112[2R#E #8A (3) it 5,10.72 7121
152 5619/ FK & (2) L& 5,10. 96 5 8
153] 3199 /piy A (2) K 5,10.97 3 6
154| 6659 sk BT (1) BRE = 5, 11.62 4 110
155] 4966 ML H1&k (1) 1 4[] 5,13.29 3 7
156 5423 |LEE F0#E (2) =g 5,13.70 2 2
156 5168 PH:ZE JLAC (2) REFILE 513.70 51 9
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158 404 #1H BA3 (2) FR 5,13.85 8 19
159| 1802 [EH #(2) Pt 5, 14.64 4 1
160 16803k #4i#C (2) FARERED 5 14.73 5 110
161| 54475+ B&K(1) L= 5, 14.81 6 | 17
162 5417 F:E ZAEB(2) HiE 5 17.13 3 8
163| 5254 FR #HE (1) e 5,17.35 319
164| 4970 Kt &#e (1) 1 4[] 5,18.12 4 112
165| 5056 #HHF & (2) REAE 5,18.48 5 1
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167| 2051 %M #if (3) RESE 5,18.66 3 110
168| 5063 |FIL Kih(2) REAEE 519. 11 5 12
169| 4482 /hik K& (3) hEF 5,19.18 4 |13
170] 1675|/F=2E =88 (1) FARERED 5,19.89 5 13
171] 4558 4 4R (1) ER#A 5, 20. 66 3 1
172] 5419|/\LY) HES (2) =i 5,20.69 3 12
173| 5956 |fEf H#= (1) =% 5,20.77 2 3
174 5229 = (% (2) T 5,21.03 6 | 18
175 5109|7R & (2) it 5,22.15 4 | 14
176 5438 k4K BE Q) ML= 5,22.28 6 | 19
177] 1686 &4 % (2) FAREED 5,22.69 4 15
178] 181341+ #R#E (1) Bo 4 1RE 5,22.75 5 | 14
179] 6392 5&R Hh (2) H& 5,22.94 12 117
180| 6081 #ix #B)(1) $RER 5,23.14 4 116
181] 4337/ KH % (2) /A 5,23.18 4 17
182] 6174402 |/ (1) L= 5,23.75 3 13
183| 5421 J8M B (2) HiE 5,24.45 3 | 14
184| 4586 /MK 43} (3) B 5,25.19 4 18
185] 6391 ILI& 5 (2) & 5,25.69 12 118
186 4493 /MNE B7E (2) &4t 5,26.95 3 15
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192] 5958 ek Ath (1) =% 5,31.02 2 5
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199] 348810 5 (1) SR 5,34.95 3 18
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202 5501 #5AK R (1) =i 5,37.02 1 4
203 5064 =i £F (1) REAE 5,37.62 1 5
204 4974 BEE KiE (1) 12 47 [if] 5,37.83 219
205 4969 #E EE(1) 12 47 [if] 5,38.73 2 110
206 4973 EH FiE (1) 12 4 [if] 5, 38.86 4 120
207 5955 Rk B&E (1) =5 5,38.87 5 18
208 5418 EF# MEAE (2) 518 5,38.96 1 6
209 5409 XA #l(2) &1 5,39.47 1 7
210 4050 FHith k% (1) FeLEWLHA 5,41.09 1 8
211 4494 /i EEE (2) =i 5,41.18 2 |11
212 5068 7rmA 42 (1) REASL 5 41.47 1 9
2131 6077 Ef& #3x (1) B 5,41.48 2 112
214 4063 FAR (1) FeLEWLMA 5,41.82 3120
215 4284 de#t FR%EE (2) =R 5,41.95 2 13
216 1670 ¥aig Sk (1) FARERAD 5,42.56 1110
217 5436 jnik =& (3) L= 5,43.03 5 19
218 5939 MH #%% (2) =% 5,43.09 4 1 21
219 4923 HiE Kih (1) HIET 5,44.08 3 21
220 5449 E® E#(3) LD 5,44.69 6 | 20
221 3194 lL7A #HEX (1) E 5,46. 31 2 |14
222 1689 &M =) FARRED 5,47.38 2 15
223 5957 B HIE(D) =% 5,47.65 4 |22
224 4911 KAMR @) HIET 5,47.94 322
225 6371 54 &) HIET 5,50.74 5120
226 2063 AT E(2) BRE=E 5,50.98 111
227 6083 F@=FE EAN (1) $RER 5,51.46 2 116
228 6078 BiER =5 (1) $RER 5,52.23 2 17
229 5427 & XA (1) HiE 5,52.87 1112
230 4967 =i =6 (1) 12 4[] 5,57.48 2 118
231 3486 A K (1) SR 5,568.13 2 119
232 4048 p 5 (1) FeLtWLMA 5,59.14 1113
233 5414 EHE #h3t(2) a5 6,03.13 1114
234 1671 Fr)Il :EHBA() FA A 6,03.35 1115
235 5413 7EE 1% (2 i 6,04. 81 1116
236 1673 FE=ZE ZX(1) FA A 6,05. 68 1117
237 5424/ 1lLF twth(2) L 6,11.67 1118




FF

1500m

JEHL No. K HEFR mRA ROk -

238 5408 H#F [E(2) a5 6,12.98 1119
239 167678 EHE(1) FARRED 6,24.48 1120
240 5962\ KJIl X3 (1) =% 6, 28. 84 2 12
241 3193 @A = (1) E 6,29. 82 2 |21
242 4786 |#n K EEA (1) *x 6,33. 11 2 |22
243 1672[E #7 (1) FARERED 6, 36. 21 1121




	中学男子混成得点表(1)
	中学男子混成得点表(2)
	110mH(0.914m)
	砲丸投(4.000kg)
	走高跳
	400m
	1500m

